
 
 
 
 
 
 
 
 
 
 
 

Answer any FIVE questions. 
Each question carries 7 marks. 

                 (5 x 7 = 35) 
1. midj;Jf; fzk;  

 U={0, 1, 2 , 3 , 4 , 5, 6 },  
 A = {1, 3, 5 }kw;Wk; B = {0, 3, 4, 5 }vdpy; 
(a) (A U B)’ = A’ n B’ kw;Wk; 
(b) (A n B)’ = A’ U B’vd;gij rhpghHf;f. 

 If U={0, 1, 2 , 3 , 4 , 5, 6 } , A = {1, 3, 5 } and B = {0, 3, 4, 5 } then verify  
 (a) (A U B)’ = A’ n B’ and  
 (b) (A n B)’ = A’ U B’ 

 
2. 24+21+18+15……….vd;w $l;Lj; njhlhpy; njhlHr;rpahf vj;jid 

cWg;Gfisf; $l;bdhy; $Ljy; –351 fpilf;Fk;?  

How many terms of the arithmetic series 24+21+18+15………. be taken continuously 
so that their sum is -351. 

 
3. 3 ehw;fhypfs; kw;Wk; 2 Nkirfspd; nkhj;j tpiy &.700 NkYk; 5 ehw;fhypfs; 

kw;Wk; 3 Nkirfspd; nkhj;j tpi &.1100 vdpy;> 2 ehw;fhypfs; kw;Wk;  
3 Nkirfspd; nkhj;j tpiyiaf; fhz;f. 

Three chairs and 2 tables cost Rs. 700 and 5 chairs and 3 tables cost Rs. 1100. What 
is the total cost of 2 chairs and 3 tables? 
 

4.    4     1    2             2    0   4   1    2   -3 
 A=  1    -2    3 , B=    6    2   8  kw;Wk; C =     5    0    2 
   0     3    2                  2    4   6   1    1    1 

 
 vdpy;> A+(B+C) = (A+B)+C vd;gjidr; rhpghHf;f. 
 

    4     1    2             2    0   4           1    2   -3 
 If  A=  1    -2    3 , B =   6    2   8     and C =   5    0    2 
    0     3    2             2    4   6            1    1    1 

 

 Then verify that A+ (B+C) = (A+B) + C 
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5. A (3, 5), B (6, 2), C (3,-1) kw;Wk; D (0, 2) thpirahf vLf;fg;gl;l Gs;spfs;> xU 
rJuj;jpd; Kidfshf mikAk; vdf;fhl;Lf. 
 
Prove that the points A (3, 5), B (6, 2), C (3,-1) and D (0, 2) taken in order are the 
vertices of a square. 

 
6. xU jpz;k NeH tl;l cUisapd; nkhj;jg; Gwg;gug;G 880 r.nr.kP kw;Wk; mjd; 

Muk; 10 nr.kP vdpy;> mt;TUisapd; tisgug;G> fd msT Mfpatw;iwf; 
fhz;f. 
 
If the total surface of a solid right circular cylinder is 880 sq.cm and its radius is  
10 cm. Find its curved surface area and volume. 

 

7. sec ߠ = ଵଷହ  vdpy; ଶ	ୱ୧୬ఏିଷୡ୭ୱఏସୱ୧୬ఏି	ଽୡ୭ୱఏ = 3	vd epWTf. 
 

If sec ߠ = ଵଷହ   then prove that  
ଶ	ୱ୧୬ఏିଷୡ୭ୱఏସୱ୧୬ఏି	ଽୡ୭ୱఏ = 3. 
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